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2023
POLITICAL SCIENCE

( Honours Core )

Paper : POL-HC-4026
( Public Policy and Administration in India )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jfor the questions

1. Answer the following as directed : 1x10=10
oS T et e fia

(a) Which State of India first adopted the
Right to Service Act?

ORI (I T2 AAWS G SEFR i3
2129 FfRfee 2

(b) Mention one characteristic of public
policy.

PG GO M8 Trm 39 |
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(2)

(c) In which year was the PESA Act
enacted?

PESA Si39% (I 5@ 239 397 (22 2

(d) In which State of India was Lokayukta
first established?

SHSY (FFYE ISR AW GRS A
ffee 2

fe) Write one remedial measure for
combating corruption in India.

S IS 2ASCA14 A G1 Ter form |

(7 Who elects the President of Gaon
Panchayat?

M8 ALY oSS (I fA<Ha 3¢ 2

(g9 What is single budget?
qFF RO 2

(h) “Illiteracy is a hindrance towards
people’s participation in adminis-
tration.”

( Write True or False )

RSl PO SR SRR G99
1’

(w05 fordn )
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(3)

() Write the full form of RTE.
RTE? =+ (¢t far4t |

() Mention one employment scheme
adopted in independent India.

FAH SRS 429 I 93 Heme =@
TEY 901

2. Answer the following in very short : 2x5=10
Tere AR oS vy Teq faa -

(a) What is incremental model of public
policy?

EFNfey e =X 2

(b) Write the name of two local governance
institutions of India.

A YB1 A NP SR A 1

(c) What is food security?

1 fFarerar 2

(d) Write two principles of social welfare
administration.

A& FemIT 2PTPTE q01 S &4 |
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( 4)

(e) Write two limitations of decentralization.

RETFAR 101 TRz o |

3. Write short notes on the following (any four) :
Sx4=20

Soto MR 8oqe b3 (O ferdt (R ¢en wifkon) -
fa) Problems of public policy evaluation
RS JEET 11
(b) Forms of decentralization
RPTFIR =15 A 24
(c) Citizen’s Charter
ERIEERT L
(d) Principles of budget
M SR
(¢) MGNREGA '

7, & 99, 9R. 3. & «.
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(S)

(/i Evolution of local self-governance in
ancient India

A Sws T ISR e

4. Answer the following questions : 10x4=40
S SPCAA Tad il

(a) Discuss the public policy ‘process in
India.

TR (@FANS Sf&FACOT ST F47 |
Or / 1331

Discuss the various stages of policy
formulation in India.

SRee e Rfrm [(fSa /R e
1

(b) How is the Parliament of India related to
budgetary process? Discuss.

ICEE AT ATS  SRelW  AeWM A
SRS 2 SOl 41 |
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(6)

Or / 131

Discuss the role of the Estimates
Committee and Public Accounts
Committee in budget process of India.

SHY ICEs AfFHe AT I IR0 =W
5341 26171 SR ST Sicawan 3941 |

(c) Analyze the problems of public service
delivery in India.

TRSY BIFA G @SR AER [Rema
91 |

Or / «i%<1

Explain some public grievance redressal
measures of India.

SRS (PO IR S Ry =
O 41

(d) Analyze the problems of local self-
governance in India. Suggest some
remedial measures to overcome those
problems. 8+2=10

SRS Al FESMPEE TONER [ema 3411
9% TPIER ANYEE A0 RW/EE  oR_
HISRCERT |
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(7))

Or/m

What is e-governance? Discuss its
role and significance in public

administration. 2+8=10
TPH B2 ETR-2rTre PR SR ST
SIS T4 |
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